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PART—A
SPOTTING ERRORS

Directions : Each item in this section has a sentence with three underlined parts labelled jaj, (B
and (e). Read each sentence to find out whether there is any error in any underlined part and indicate
vour response in the Answer Bheet against the corresponding letter, i.e., fa) or [b) or fcl. 1If you find no

error, your response should be indicated as (d).

1. He appears 1o be a honest man,. Mo ermor

fez) (il fc) fil)

2. One of the membera expressed doubt f the Minister was an atheist, No error

faj (B fcl fd}

3. This view has beentaken by one of the ablest persons | who has written on this subject.
i) (B icl

No error

fed)

. Slow and steady owns the race, as the wise would say. No eitor

fal (b fc) fid)

§. We ofien hear people say  that most human beings have not evelved
) by

or grow up enough to stick to truth or non-viclence. No error
fel (d}
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SYNONYMS

Directions : Each item in this section consists of a sentence with an underlined word followed
by four words or groups of worda. Select the word or group of words that is nearest in meaning
to the underlined word and mark vour response 10 your Answer Sheet accorndingly.

6. The Industrial Revolution saw a massive 8. This boy is very timid.
rige in the population of Europe.

fa) courageous
fea}  enormous Bl shy

{o]  clever
(i ermonecus

fd) dull

hazard
{c} hasardous 9. My friend is as stubborn as a mule.

fd] perilous fer)  observant

(k)  obnoxious

7. | had some deepest convictions reflected fe) wbstinale

in my work.
(d] corpulent

{a) ideas and opinions 10. His  behaviour was  deliberately
provocative.

(bl firm belicfs fe}  exciting desire

(B  mfuriating
el prejudices

fc] pitiable

/d] biases fd] creating frastration

YPL-U-AV.J/60A 3 | B.T.O.




ANTONYMS

Directions ; Each item in this section consists of a sentence with an underlined word followed
by four words or groups of words. Select the word or group of words that is opposite In meaning
to the underlined word and mark your response in vour Answer Sheet accordinghy.

11. Too many cooks spoil the broth. 13. Tt is easy 1o be an orthodoo
fa} ddolatrous

fa] ternish
(bl intellipent

fh)  wreck e}  malignant

fd} heterodox

fc) embellish

14. Permit me to present yvou with a book.

() upset
fal allow
(B epciosty
12. He is biased against the students from fel  prohibit
cities. A
fdl persuade
la] open
15. Mone but the brave deserves the fair
b prejudiced ) ugly peraon
{b] coward
fe)  liked
fo} jealous person
fd] impartial fel} weal person
YPL-L-AV.] f60A L




COMPREHENSION

Directions : In this section, you have two short passages. After each passage, you will find some
iterns based on the passage. Pirst, read a passage and answer the items based on it and mark your
rezponse on the Answer Sheet accordingly, You are required 1o select your answers based on the
contents of the passage and opinion of the author only.

“Now, ladies and gentlemen,” said the conjuror, *having shown you that the cloth is abselutely empty,
1 will proceed to take from it & bowl of goldfish. Presto(”

All around the hall people were sayving, “Oh, how wonderful| How does he do it?"

But the Quick Man on the front seat said in a hig whisper to the people near him,
“He-had-it-up-his-sleeve,”

Then the people nodded brightly at the Quick Man and =zaid, "Oh, of course®; and evervbody
whispered round the hall, "He-had-it-up-his-sleeve.”

“My next trick,” said the conjuror, "is the famous Hindostanee rings. You will notice that the rings are
apparently separate; at a blow they all join (clang, clang, clang)—Presto”

There was a general buzz of stupefaction tll the Quick Man was heard to whisper,
“He-must-have-had-another-lot-upshis- sleeve

Again everybody nodded And whispered, “The-rings-werd-up-hig-aleeva.”
The brow of the conjuror_was clouded with a gathering frowm.

“1 will now," he continued, “show you a most amusing trick by which I am enabled to take any
number of eggs from a hat. Will some gentleman kindly lend me his hat? Ah, thank you—FPresto |

He extracted seventeen eggs, and for thirty-five seconds the audience began to think that he was
wanderful. Then the Quick Man whispered along the front bench, “He-has-a-hen-up-his-sleeve,” and
all the people whispered it on. "He-has-a-lot-of-hens-up-his-sleeve.”

The egg trick was ruined.

It went on like that all through. It transpired from the whispers of the Quick Man that the conjuror
must have concealed up his sleeve, in addition to the rings, hens, and fsh, several packs of cards, a
loaf of bread, a doll's cradle, & live guinea pig, a fiftv-cent piece, and a rocking chair,

16. "The brow of the conjuror was clouded with a gathering frown.” The sentence means that
the conjuror

fa) was very pleased B} was very sad

fe} was rather angry fd) was very afraid

YPL-U-AV.J/G0A & | FT.Q,




17. "The egg trick was riined.” This means 19. The author belicves that the Quick Man

that was really
fa) epggs were all broken fal fochsh
jb) people were unconvinced
B clever

fe) comjuror was disappointed
fd} the trick could not be performed fe] wrong

fd} right

18. According to the Quick Man, the
conjuror

20. The conjuror extracted sevenieen epgs

aj had everythin bought for
fal . -2 from the hat of

production

(b} produced things with the magic fz)  the Duick Man
he knew

B} hia own
f¢) had things in the large sleeves of by

A fg} pone gentleman from the audience
(d} created-an illusion of thinge” with
his maphe fefy "None of the above
Magda i Good moming, Mrs. Smiles. It's wet, isn't it?

Mra. Smiles :  Yes, it is, isn't it? How are you today? All right? You haven't been studying too hand,
have yvou? You look a bit pale.

Magda » 1 don't, do 1?7 Well, T haven't been out much lately. | don't like this weather a bit.
Why, we haven't had a dry day for weeks, have we?

Mra. Smiles Neo, | don't think we have, Let's see, vou'll be poing back home next month,
won't you?

Magda : Oh no, I'm not going back yet. My sister’s coming over first
Mra. Smiles :  Oh, is she? You're looking forward to that, I expect. How long is it since you saw her?
Magda : MNearly & year now. Yes, | am looking forward to it very much.

Mra. Smiles : She's coming over here to study?

YPL-U-AV.]/60A (<]




Magda ¢ Yes, that's right, I shan't go back home until she's settled down. | don't think I
ought to, ought I?

Mrs. Smiles ; Well, no, she's vounger than you are, is she?

Magda . Yes, she's only eighteen.
21. Magda had not been out much lately 23. Mrs. Smiles says, “You're looking forward
because to that® This means, Magda was
her sister's arrival.
fa) she had not been keeping well ja) expecting with pleasure

(b preparing hard for
{b] she was busy with her studies
fel  thinking greatly about

fe} the weather had been unpleasant fd} watching with joy
_ 24. Magda's sigter. was coming to
fd}  heér sister had come over ta stay

o) sttt her slster

f} help Mrs. Smiles

22. Magda was not going back home wyet

s fe}  settle down in England

fdl  pursue her studies

fa) it had been raining heavily
25. Mrs, Bmiles and Magda are

{bl her sister was coming over [a] classmates
b school MHends
fje) her studies were not completed

fe} mneighbours

jd] she was not fecling well fed)  misters-in-law
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FILL IN THE BLANKS

DMrections : Each of the following sentences in this section has a blank space and four wards or
groups of words given after the sentence, Select whichever word or group of words yvou consider
most appropriate for the blank space and indicate your response on the Answer Sheet accordingly.

26, We fail to understand your reasons

for . the college without completing
the degres,
fa) attending {b) joining
feh leaving ] refusing
27. She her energy and started

shouting only when she heard the noise

of bulldozers and cranes,
fa) checked {b} conserved

fe) maintained  [d] controlled

28. The British all over Africe and Asia
collapsed in the ficst half of the fwventisth
century.

fa} hegemony B} domicile

fef  residence i) inheritance

29. The [lootball match hes o be
bBecause of the weather,

fal  called off

fo]  put off

i} continued

{fd] turned off

a30. If 1 were rich, a lot.

fii) TN traseel
fi) | can travel
fe} 1 would travel

fdi 1 travelled

YPL-U-AV.]/60A

31. They apologized me for what
happened.
fa) to fB) At
fe)  for fd) with

32, 1T you are tired of swimming, just

for a whale.
fa) struggle (b}  sboke
fe]  float {d}) streak
33. He had spoken for two minutes
when there was a commotion in the
erpwid.
fg)  even fb) hardly
fel  often fd} little
34, | would not commit mysell that
course of action.
fa) of (B to
fel by fed} with

35. The soldiers waiting to go into battle for
the first time were full of ;

fal apprehension
fb} consideration
fo}  anticipation

fd] frivolity




IDIOMS AND PHRASES

Directions : Given below are some idioms/phrases followed by four alternative meanings to each.
Choose the response (a), (bl &) or (d] which is the most sppropriate meaning and mark your

regponse on the Answer Sheet accordingly.

36. A red-letter day

fal a trivial day
(Bl avery important or significant day
fel @ day of bloodshed and violence

fel] a mourning day

37. The gift of the gab

fa] ability to _speak ooeasily and
confidently

(b} ability to spoil something
fe) ahility o =sell things

fef] gift from a sacred institution

38. Walk a tightrope

fa] to be forced to leave your job

fb} to be ready to fall

fej to act very carefully

fdl to invite danger

YPL-U-AV.]/60A

39, Toe be in a fix

{al to receive sirong criticism

fb] to support oneself

fej o fix problems

fcf) te be in a difficult situation

d40. Toe fish in troubled waters

fal to borrow money

fbl to steal belongings of

fe) to get benefit in bad situation

fd] to extend a helping hand

| BT,




ORDERING OF SENTENCES

DHrections : Each of the following items in this section consists of a sentence the parts of which have
been jumbled. These parts have been labelled P, ), R and 5. Given below each sentence are four
sequences namely fa), (b}, j¢) and (d). You are required to rearrange the jumbled parts of the sentence
and mark your response on the Answer Sheet accordingly,

43. Newton discovered that
P. as the heat is dispersed P. due to the gravitational pull
. an unhealthy smoke accumulates (). of the earth

41l. Domestic fires in Indian villages

i unventlated houzes
E. are wasteful
5. lt in Chulhas

K. the apple falls
3. on the ground

The corréct sequence should be

The correct sequence should be fal QFRS fb) RSPQ
b e fc) QSPR @) SQRP
b} PQRS 44, The knocking

o SPOR P. were still in the house
Q. for some time
fd] SRPQ R, althgugh the echoes of it
5. eceased
42, Bold rocks near at hand

P. mekes a fine forest for the
imagination faj SRPQ fb) SQRP

Q. than distant Alps fe} PQSR fe] RSPQ
R. are more inspiring
5. and the thick fern upon a heath

The correct sequence should be

45. The history of mankind is
P. and steady progress

The correct sequence should be 3. continuous change
5 S R. the history of

5. from barbarism to refinement
(b} RSQP The correct sequence should be
fe] RQSP fa} PQRS b} RQFS
(d) SRQP fe) QSPR (d) SQRP

YPL-U-AVJ/f60A 10




CLOZE COMPREHENSION

Directions : In the following passage there are some blank spaces with four words or groups of
worda given., Select whichever word or group of words you consider most appropriate for
the blank space and indicate your response on the Answer Sheel accordingly.

The honeybee is a very unusual kind of insect. ____ 46. ja) Unlike cther insects which live
{B) Similar to
fo) With
(d) Like

alone, the honevbee lives as afan 47, fa) group of a community, These beea live

b individual
fc] member
fd} troop

together in what is knowi as a bee 48, /a) house. The head of the bees is called the

b} “home.
[A
fd} colony,

gueen bee, She ia 49, fa) heaviest than the rest of the bees, Her main task

b} heavier
fo) largest
fd} larger
iz to 50. (a) lay eREs.
{b] hatch
fe) make
fd) bear

YPL~-U-AV.J /60A 11 | P.T.O.
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PART—B

Directions : 53. Btatement 1
The following six (6) items consist of two The Government of India Act, 1935
statements, Statement [ and Statement 1L introduced Dyarchy at the Centre.

Examine these two statements carefully and

select the correct answer using the code given

e low. The provincial autonomy was granted
ta the Provinces.

Statement 11 ;

Code ;

faj Both the statements are
indisiduaily true and Statement [1 54. Statement | :
iz the correct explanation of Mughal Painting reached its climax
Statement 1 during the reign of Jahangir,

jbl Both the statements are Statement 11 :

mmdividually true but Statement 11 :
is mot the correct explanation of Aurangzeb's Court was adorned by

srheamnt 1 some of the best known artists of the
Mughal Schoal of Painting.
fc}  Statement 1 1= true but Statement 1
15 falee

fd] Statement | iz false but Statement 1T

. 55. Statement | :
is true

L Phytaplankien’/ produce most of the
organic carbon in the ocean.

51. Statement [ : Statement 11 :

The pitch of the sound wave depends

: Algae are produced in the cold water
upon itz frequency.

biome.
Statement. I1 :

The Ioudness of the sound wave

depends upon its amplitude, ¥
56. Statement [ :

Ceostrophic wind blows above a height

52. Statement | : of 600 metres, paralle] to the isobars.
Sound wave cannot propagate Statemisnt I
VARCUIIm.

Geostrophic wind is the horizontal
wind wvelocity, in which the Coriolis
Sound waves are elastic waves and force balances the horizontal pressure
require a medium o propagate. force,

Siatement 11 :
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87, F=falEa 4 4 o v =it FifEsm a5

0 DNA 7 27
fa) FERMOTE, F=E, BH0EATE

62, TF T H T w8 ¥ FifeEn e us

iR =9E F fem g0 feed geradie um W
Eu

fh)  awfops, el wa, R fa) T
fe)  wwRiorE, Wi well, S fh) =
f)  Efrerr, e, TeeEEn fe) WA
i fel} =M
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ac bk 63. s w T § are & 9 AR
fa) NI T i P rmE e budR Bud @
i) Tefire dwemm T g weTR W sEEE 301 B W@
fe)  WE AT w EEm Fi H sfpdrm & alfma o SRl e
id) TS gt w Rl Ll
fal] 175 u
56, UF =g T 759 ey @ g Feen w5 g fbl 17 u
T N 92T fe] 16 u
fa) S S S (@) 1651
fb) I U198
fe) ORE F Tm 64, Tr=fofian & 8 Wa-wm uw faael (Faemdm)
fa) FEgEES W
0. Frefafem 8 @ fien semy/fe sl 8§ e (b Tew
af
o] HTE =i
(b e uii= o

fe) =T 3R wERn g

: * s 65. Trefer #ifgan weve 91 g3 a9l feed o 27
td) miEe HAE

(Fm mn & T wifemm, s i wisie 6
o] HEfEal I 23w, 12u MM 16u

61. Fefofim § & Fa-m uw wedweEs 0 &7 L §
fa) e faj 286 u
fh) B (b} 106 u
o) s (3 fc) 83 u
fef) TiiGE () 53 u
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57. Which one of the following groups of 62, The atomic number of an element is 8,

cellular organclies contains DMNA? How many electrons will it gain to form
{al Mitochondria, nucleus, chloroplast & comipeund with sodium?
b} Mitochondria,  Golgi  bodies, fa} One
nucleus (b] Two
fel  Mitochondria, plasma membrane, Tl
nuclews fef
(dl Chloroplast, nucleus, ribosomes (d} Four
58. One of the additional functions of 63. A sample of oxyvgen conlains two isotopes
Smooth Endoplasmic Reticulum [(SER] of oxyvgen with masses 16 u and 18 u
is regpectivelv. The proportion of these
fal protein synthesis isotopes in the sample ia 3 : 1. What will
e _ be the average atomic mass of oxygen in
fbj lipid synthesis this sample?
fe} storage of biomolecules g} 175 u
fd] detoxification of toxic substances B 17 u
59, Damage to the apical meristem of a fel 16 u
growing young plant will affect the ) 165 @

fa]  length of the plant

(b) colour of the fower 64. Which one of the following is a

fc) colour of the/ldavey [ hermogeneslis) mixture?
(d] taste of the fruits fa} Hydrochloric acid
60. Which of the following kingdoms ®) w‘"EEﬂr
has/have only unicellular crganisms? fel Milk
fa) Monera only fd} Soda water
{b] Protista only
fc} Monera and Protista both 65. What is the formula mass of anhydrous
(@) Protista and Fungi both sodium carbonate? (Given that the

atomic masses of sodium, carbon

gnd cxyepen are 23 u, 12 u and 16 u
61. Which one of the following is a

respectively)
waterborne disease? Ragcacy
fa) Jaundice
b} Tuberculosis b} 106 u
fc] Rabies fe) B3 u
jd} Arthritis [d 53 u
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66. FefefEa 4 3 s weoamn &7

fa) Cis}+H;0)
b} COfg)+Hy0ig)
fel  COE)+Hylg)
fdj NOgig)+H;lg)

67, WIATE T ) W Al e 8

faj 20 Hz ¥ %5

b} 20 Hez 37 2 kHz & #g
fe) 2 kHz 3R 20 kHz & 9=
fd] 20 kHz 3 #THR

68. Fedl wm-yaiee am & aig o fadi Rfte oh

ar ke g 5 A ol w2
fa) TR TEIET MU HE
(bj T e gr

fc) W%W“

fd) = § 4w A

)recll

69. TH TN §EE (@Acd wWe) w8 9 Ar

ANEF T AW 2E PO waiaE Bl owE 4 Ar
AT e W n R e e 4wl gl
Ar @ F1 co, T\ 8 wew fEw o R o
i R T W FE # o, W o
5 a2 ¥ 9 T 0w PR Pt
H | Wi-H HeY 0 e gf (g Ml s
el =1 TF = w8

fa) P'=P

fhi FP'=2P

fcl P=P}2

fdl P*=Pf4

YPL~U-AVJ /G0A
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70. A 99 nm % &\ fafEfEa 8 9 s9-m dEg
wEl g

fa) 1 nm=10"'A
fbl 1 nm =10A
fe} 1mme=1A
fd] 1 nm=1024A

T1. LED ¥ qnf &9
faj gz il 2R
(b} o e fEamm
fc) TR FRTan fEamEw
(el) TEE SR BTEE

72. ufe Wk g e 1 kV & Reerm 8@ g
8, o soveta wro afda st Al

fa) 1 16 %107 )
W 16x10 )
5 el 0T
fe] 13107167

73, wiA ¥ Frefirf vl w e fifim
1. EFR
2. T
3. A
4.
gy & amm & e 4 vEw wE = oad
T tetEa 7§ s 87
jap 3-2-1-4
b} 2-1-4-3
fe) 1-4-3-2
fd) 4-3-2-1




66, Which one of the following is called

‘syngas”?

fa} Cisj+H;OR)
b} COgl+HzOR)
fe) COIlg) +Halg)
fd] NOsie)+Haie)

67, The frequency of ultrasound waves is

fal less than 20 Hz

(bl beotween 20 Hz and 2 kHz
fc) between 2 kHz and 20 kHz
{d] greater than 20 kHz

68. The magnetic ficld strength of a current-

carrying wire at a particular distance
from the axis of the wire

fa) depends upon the current in the
wire

ib} depends upon the sadius el the
wire

fe) depends upon the tempersfure “of
the surroundings

jd} None of the above

69. A stainless steel chamber contains Ar gas

at & temperature T and pressure P.
The total number of Ar atoms: in the
chamber 15 . Now Ar gas in the
chamber is replaced by CQ, gas and
the total number of CO5; molecules
in the chamber iz nf2 at the same
temperature T. The pressure in the
chamber now is P’ Which one of the
following relations helds true? [Both
the gases behave as ideal gases)

) P'=P

b) P'=2P
¢} P'=Pj2
(d) P'=P/4

YPL~-U-AV.J/60A
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T0. Which one of the following i= the correct

relation between A and nm?
fal 1 nm =10""A

b} 1 nm=10A

fef 1 nom=1A

(d} 1 nm=10"24

The full form of LED is

fal Light Emitting Diode
fta) Light Emitting Device
fe} Light Enhancing Device
fd] Light Enhancing Diode

72. § a free electron moves through a

potential difference of 1 kY, then the
energy gained by the electron is given by

fal 1-6x10°179g
(6 | 1-6x 107453

fe} 1x1071%4
o 1%~

T73. Consider the following places of India !

1. IDtanagar
2. Imphai
3. Aganala
4, Alzawl

Which ane of the following is the correct
chronelogical order of the above places
in terms of sunrise time?

fa) 3-2-1-4
(b} 2-1-4-3
e} 1-4-3-2
fd} 4-3-2-1

| P T.O.




74, Fnafefian # 8 e 2e w6 aofogf s

B

fa) % (Be)
m Tava (Bils)
fej =& (Peh)
(e} A [{Chars)

75. uyna & e a= ofe st o f=n

Shifaw

Tyt 2o

a3

e

e

wiggm # I R s g Tl % am,
IFw 4 W IR W oEf @
Fr=ifafias § & ®m-a) Y

faj 1-2-3-4

b 2-4-3-1

BB N

fo) 2-3-4-1
fd] 3-1-2-4

76. wooE  favy § Fefefag 8§ f9-81 w9

et &Y

fa) FEEEEE H A9OH, $EE & @ g2
.

fh) wEaTEa o fafim $faedl @ e
A (wFEA) T R

fe) wraEEer § wmWE 65 °C ufE ReEnie
i FEa o H A & oy aga 3)

fdi sEE 4 dusE 64 cC W i
1 alws o A I & oy w2
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77. UEEPH F 5E w2 1§ b wawe giads ¥ 4

# = § Frafiafiaa 4 @ fed w7 9 37
fa) TATI-WEHAIA
(b) e
fo) TETE EE
(d) TR

78. fefefas & & fem &Y 2 we 6 s

wSHCAT 1 §T T A e B
fa) W % EE % " sl
bl henia )

fe) SETETHL

fed) wrmae fafem fain

79. Fafefian & & frm sfafFn @ 30 (ofoms)

¥ & NO (e sitnz) e fweh?
faj 3Cu+BHNO, (7g)—

B Cu+4HNO, (HE)—

(el #2Zn F10HNO,; (71)—

fd) Zn+4HND, (FE)—

> B0, [ AT AO0H- 1w Rt s 37

(a) TEREEETE 3R
(b} AElEE 3=

fe] wowfE e
fd) wieEtfes s

81, F=fafEs wadt & § - ad w27

faj # # Wl FEH, wEA-EE S g
T (99) & E

(by TETgE T avell ww HeEn ¥, feed ol
TN AEEeE wel g e A g
et |

(o) TwEE 1 WA FwEE et £ ez
el g Al B

(d) Tz i wd wE - wEe dw g
| ° a2 B




T4. Which one of the following is known as

uplands of delta region?
fal Bef

b Bils

fcl  Peh

{d) Chars

75. Consider the following Wildlife

Sanctuaries of India :
1. Shikari Devi

2 Bhadra

3,  Simlipal

4. Pachmarhi

Which one of the following is the correct
order of the ghove Wildhfe Sanctuarics
in terms of their location from south 1o
north?

ja] 1=2-3-4

B 2-4-3-1

e} 2-3-4-1

(d)] 3-1-0-4

76. Which one of the following statements

about temperature is correct?

fa) Temperature decreases with height
in the stratosphere.

B Temperature is constant at different
heights in the siralosphere.

fe) Temperature increases with height
in the troposphere at an average
rate of 65 “C per kilometre.

fd) Temperature decreases with height
in the troposphere at an average
rate of 64 °C per kilometre.

YPL~-U-AVJ]fG0A
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77. Which one of the following is known as a
gone of sharp salinity change in the
vertical section of ocean?

fal Thermocline
fb) Halocline

fe} FPhotic zone
fdl Pycnocline

T8. Permanent hardness of water cannot b
removed by which one of the following
methods?

fal Treatment with washing soda
(bl Calgon’s method

e}  Bailing

{d} lon exchange method

79. Which one of the following reactions will
give NO (nitric oxide) gas as one of the
products?

fa) 3Cu+BHND, [dilute}j—
(B FCd + 4HNO, fconc. }—
o) AZn+10HNQ, (dilute)-
fdj Zn+4HNO, (conc.)-s

BO. Which one of the Tollewing is a tribasic
acid?
fy Hydrochloric acid
(b MNitrie acid
e} Sulphuric acid
{d) Phosphoric acid

81. Which one of the following statements is
not correct?

fa) All carbons in diamond are linked
by carbon-carbon single bond.

(b} Graphite is layered structure in
which layers are held together by
weak van der Waals forces.

fc)] Graphite layers are formed by
hexaponal rings of carbon atoms.

{d) Craphite lavers are held together
by carbon-carbon single bond.

[ B.T.O.




B2.

B4,

BS5.

B6.

Frafafias & & 58 5ok o w2 3mm 27
fa) B FEA EEATTIEE

(b) = wTE SEHTEIEE

fe) =E AEEEA

fd) EA whEm

IS @ A A A sl aeduie =
T I Rtk g e s #7

fa) =TETETE TR

by el '

fej R W

id) fiom |

FREl A SR B T R e R
fa) wal A
&) e
fet =t i
) vl Frem

T T 3 S e Al aﬂd—!ﬁ?il'-i
T faes & Baeftrding [ 1M ¢

fa) S

(b} TEA TS
fo) W

{d] TFEE

ww yieedt s = w9 oy Pafafee 4 9

s wm Pl #n 27

fa) FrF—dEE AR TE—
e AR TR—TE

() onft—wadt AR
AR — T

fe} wE—aEd  abEEE—aiE—i
o Figert et et

() FEE TR R —I | e —a T
— e AT
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87. ufa fav m uw amw F e F ouw 2w N

BN wE Sl R 9= RREeR d m, ouw
fenfine maw & gomw o qmim Feaw A
TrER e TR d AT

fa) N¥maN
(b} 2N 2N
fe} NS 3N
fd) 2N 33N

88. Tl oftgw o faam i .

7 fim mrofigw A fas A sl B & A
ity &1 & Feetefas 1§ & fm-m 8

o
c) 3 R

fdl 4R

89. WH Y= T9EH O #wad B ¢ umwm § ww

7= araE Frefefes 8 8 weem 37
la) 0°C

fb) =100 "C

fe) 273 15°C

fd) —-173-15°C




82. Which one of the fellowing is called 87. If one set of chromosomes for a given

dry ice?

el Solid carbon diexide
B Liguid carbon dioxide
e} Liquid nitrogen

fedl  Ligquid ammmonia

B3, The acidic semidigested food coming out
of the stomach is neutralized by

(e} pancreatic juice
fb) ducdenal secretion

fci  larpe inlestine secretion
fed]  bile juice

B4. The oxvgenated blood from the lungs is
recepved by the

(e} left aurcle
b} left ventricle
fel  right aurcle
fd] right ventrichs

BS. The oxvgen evolved' ' diring © phote-
svnthesis comes from splitting of

(e} - water

fB)  carbon dioxide
¢} oxygen

jdj light

86. Which one of the following depicts the
correct circnit of a reflex arc?

fal Effector—sensory neuron—spinal
cord—motor neuron-—receptor

89,

[l Receplor—sensory neuron—aspinal
eord—motor neuron—efector

fc) Beceptor—sensory neuron—
brain—motor neuron—effector

{dl EBensory neuron—receptor—brain—
effector—motor neuron

YPL-U-AV.]/GOA 21

plant is represented as N, in case of
double fertilization, the zygote and
the endosperm nucleus of a diploid
plant would have how many sets of
chromosomes respectively?

fa) N and 2N
B 2N and 2N
fe} N and 3N
{d) 2N and 3N

BB. Consider the following circuit :

"
e
A It
R
"
s

Which one of the [Rllowing is the
value of the rezistance between points
A and B in the gircuit given above?

fe)

s

B} SR

s

fc)

WL o

(d) 4R

The absolute =zero temperature is

0 Kelvin. In "C unit, which one of the
following is the  absolute  zero
temperature?

faj O"C

(b =100 *C

fa) =-2¥315°C
fed} =17315°C

| P.T.O.




90, T W, UV se g X-Fen & e d

ﬁqﬁﬁaﬁﬂﬂﬁ?ﬁﬁﬁq:

1. 7@ W W auew, X-fEe &
mmee] & s #

o, X-fam & €2 & ==l v wem &
W i wa o s g

3, UV T REER EE, T mEm
* RIA # Fa @ w0 A R

Tl e 8 @ w8 aE e
fa) 1,233
fb) FeE 1 32
fey FEa 23

fd) F= 1

Q1. wElE L A% FEAE mﬁs‘i?mmi‘réég{qm

WA AT oW deEeaEi owm T B ol
wiers & wE W 4L o ame oA e
W TR W 2m wE oS g B, A A
drerr-apaft we Pl 5 8 S92

faj T

fbj 2T

fef 4T

fd) T(2
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92. Ty wi, w9-wes (7 #i21) o Fe-ATE

(ww i) S0 frga 2wl & wh e i
d fafm avi—am=, g0 el wen & d=
o -tium wfe % ar 2W 8 frofsfar 4 2
- U WE A e R

la) wo—FEgEE wm, w—FEbm W,
e i Al

{b) EE—EEE AW, S——EaEa an,
FA—gHY A

fc) TE—REEEE AN, WS A,
FEA—{=a T an

(d) AE—EeE W, g,
wren—Frrfan an

‘83, AR s wfhogst 1, 2 v 3 % fm oam

W W (V) Rl ans e R §

1ce P( 1

#
il -
e -—
;f —

g=-

¥

R 3 i & TR R, R, o R, &,
it Friferfian & & S-w1 W &

fa) Ry>FR,> Ry
b Ry<R;<R,
fe] Ry= R <Rg

(d) E‘]}RE}EI




00. Consider the following statements about

visible light, UV light and X-rays :

1. The wavelength of visible light is
motre than that of X-rays.

2. The energy of X-ray photons is
higher than that of UV lLight
photons.

3. The energy of UV light photons is
less than that of wvisibie light
photons.

Which of the statements given above
infare correct?

fa) 1,2 and 3
fb] 1 and 2 only
fol 2 and 3 only

fd] 1 only

91. The time period of oscillation of a simple

pendulum having length L and mass of
the bob m is given as T. If the length of
the pendulum is increased to 4L and
the mass of the bob is increased to 2m,
then which one of the following is the
new time period of oscillation?

fa) T

by 2T

o) 4T

fdf T /2

YPL-U-AVJ/60A

82. The connecting cable of electrical

appliances like electric iron, water
heater or room heater contains three
insulated copper wires of three different
colours—red, green and black. Which
one of the following is the correct colour
code?

fa} Red—live wire, Green—neutral
wire, Black-—ground wire

fb) Red—neutral wire, Green—ground
wire, Black—live wire

fe) Red—live wire, Green—ground
wire, Black—neutral wire

fd} Red—ground wire, Green—live
wire, Black—neutral wire

93. The graphs between current (f}] and

voltage (V) for three Hnear resistors
1,.2 and 3 mre given below ¢

g

If B, Ry and Ry are the resistances of
these resistors, then which one of the
following is correct?

fd)] Ry>» Ry> R

| P.T.O.



94. whH weEIl W wE gEvie & B #@ 96. wHi-1 F TGk oww gafe Sifm oo

Tt e @ famm Fifm wieEi & #r fon o #= w wwm = @ T
I g & A s, 968 S
3I9E E B B -1 =11
2. gwsts F siigEe s 5, W (R ) gl
e 1 HrEw T A e w0 R A, it 1 Eﬂ
B. STereE 2. T
3. gmEdw W owEd, wE whiews 6 C. T sl
wRE 20 % W me wE p D. 4.
4, Mﬁﬂﬁﬁimmﬂ w2
i 4l & T4 Ty awm B SnA B H B
v 8 - o B Si 8 & o
. 3 4 1 3
faj Faa 1 3l 3 “ A B © D
2 4 1 3
fb) 1 # 4 [d A B € D
2. 1 4 3
ot 2, 334
87. g1 # w0 F mu wWhw fitm o
fety 1, 23M3 o % R o W i T
Turning Dreams Into Realit¥8ince 2001
i1 et
95. UF Ug ¥ FER M, wm 3= Gem g B (et =m) (7am)
Tl T W e e g, B 9w A. awi 1. HEF
nF e R oft B, Temw zemm s fams B. &% R 2. w5
i s mAd mtiswmA C. =4 3. W=
TR TR e Fefaias 8 8 e-m D. = 4. Ft IR
£ T
) A B € D
fal @ 1 4 2 3
b} A B € D
(bl 2gy 1 2 4 3
el A B e D
fel oy [2 3 4 2 1
fd @ 4 @ 3 2 f ?
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g4, Consider Lthe following statements about
a microscope and a telescope |

1. Both the eyvepiece and the objective
of a MiCTosCcope Are CONYex lenses,

2. The focal length of the objective of a
telescope is larger than the focal
length of its evepiece.

3. The magnification of a telescope
increaszes with the increase i focal
iength of its objective.

4, The magnification of a microscope
increases with the increass in focal
length of its abjective.

Which of the statements given above are
correct?

fa) 1 and 3 only
B 1 and 4
fel 2, 3 and &

fd) 1, 2 and JF

95. A planet has a mass M; and radius Ry.
The value of acceleration due to gravity
on itz surface is g . There is another
planet 2, whose masa and radius both
are two times that of the first planet
Which one of the following is the
acceleration due to gravity on the
surface of planet 27

fal @
b} 2g
fel gy /2
(d} g /4

YPL-U-AY.]/60A
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96. Match List-]l with List-I1 and select the
correct answer using the code given
below the Lists ;

Lizi-1
{River Basing
A. Bhagirathi
B, Alaknanda
C. Nayar
D, Ganga
Cade :
fa) A B
3 1
B A B
3 4
fel A B
2 %
fd)] A B
2 1

L B o L TR

S PR

List=IT
{ Tt

Lansdowne
Narendra Nagar
Uttarkashi

Pauri

W wo wg g

97T, Mpatch List=l with List—Il and select the
correéct answer using the code given
below the,Lists :

(Local Wirnd)

g Sl T

Lisi=l

Yamo

Black Eaoller

Bise

Haboab

%

g

W WE B -

()

fc)

fd)

Bm D K@D SO

KO a0 8D

- LR =

List-{I
(Flace]
Sudan
France
Japan
Morth America

el B LM owg

| B.T.O.




o, #f ¥ 'msrEh’ Prafafee af 4 @ fed

frim &%

fa) A
(bf W

fe)

(d) WEYA

99, WA 2011 % AW, FeeiEd § §@ fE

wrfi U R SRR R Jhe AFAEE S
) g 87

fa) TR

(b)  TirEhe

fe) TEgm

jdj  APTEE

100, F=fafaa 0 @ fee wen % tw o 909 adw &

o B 7

fa) TEM O U9
() O] U9

fc) AR T4

fd) T =t wy
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101. -1 w w1 % e gufm i el

aftwit & A1 Be 1o g2 W v woEd T
5 -

Hefi-1 -1

(= ) (Tetatar)
A, I 1. =UE-%4 &
B. Hninm 2, 2o wEm o
C. fHwmmem 3. @ & oW
D. Ty 4. TANASHE F BN W
T
fal A B o D

3 I 4 2
m} A B € D

4 4 1 2

B
o
-
413

d A B C

| ot
"
.9
@

102, Frefefs 4 @ f9-m s (wgm)

FI0E AR BT
fa)

(b wiEa
fc) wuE

fd) e (Re)




98. Majuli’, the river island, is located in 101. Match List-I with List-11 and select the
which one of the following rivers? correct anawer using the code given
below the Lists ;

fal Jamuna Ligt=] Ligt-{l
{Major Port) {Location}
(b} Padma
A. Kolkata 1. Landlocked area
fc) Ganga B, Mormugao 2. In the deita region
C. Visakhapatnam 3. On the riverside
fd} Brabmaputra
D. Paradip 4. On the entrance of
the estuary
99. Which one of the following Indian States ik

has recorded negative growth of
population as per Census 20117

fal Manipur 3 1 4
_ A B D
fa) Mizoram I IEES -
fol “Tapt yosince 800k b
2 % 1 3
(d) MNagaland

dl A B L& D

100. Which one of the following types of

cloud is characterized by continuous
precipitation? 102. Which one of the following is not an

agent of metamorphism?

fa) Cirrocumulus @) Heat

bl Cumulus fb) Compression

je)  Nimboatratus fc} Decomposition

{d}] Cumulonimbus fd}l Seluton
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103, fmiafas # @ B femm @ pH, 7 4 =9 106. Fofefim 3 & F=-m fram =1 oemf g3

gy a7
fa) NaOH fa) CaSO,-2H,0
b KCl (b} Ca,Si0,

(0 2CaS0, H,0
6] Fetlq

(dl CasSO,
(d) MaCl

107. =09 e & fan ¥ 9 4 Oafates syt

= - ¥
104, Frfirfian 4 A - uw o= whife i F-a i B

¥ (@) Twefl dfie A ol w1 s wEE

A A 2

fal NaOQH+HC| — NaCl + H,0O
) & Ted sfhfe § 4 oo o B, @

fb} CaQ+H,0 — CafOH)g & g g e 1 fifim 2

#, a & w9 we A owoE
fe) 2Mg+0, —72Mgd, e 20(
| fe =3 = 7 @ Feaw fen @ wwa @ afh 3
fd) Na,50,+BaCl, — BaSO, +2NaCl ¥ e Towm e g

fef) = AW s Tm ow o e F o
sTEaAl W Al & e A w2
105. = % #9 § fr=fefim & & &6 oge f

o =i 27
) 108. X-Famt = wnt=d Ben o = @ 27
fa) STHTHEY ATEE2
faj 1A
b FHIHEE AR
B 1 pm
jel = W W T
idj  HOTY Wk fd) 1 cm

YTPL-LUT-AV.] fe0A 28




103. The solution of which one of the following
will have pH less than 7?2

fa}

b

fc)

fed)

104. Which one

MNaOH

KCl

FeCl,

NaCl

of the following iz an

oxidation-reduction reaction?

fai}

)

fc)

fel)

NaOH + HCl — NaCl + H,O
Ca0+ HyO — CajDH),
2Mg + 04 S ZMgD

Na 50, + BaCl, — BaS0, + 2NaCl

105. Which one of the following is not used as
fertilizer?

fal

(bl

fe)

{d}

Ammonium mitrate

Ammonium sulphide

Ammonium phosphate

Ammonium sulphate

YPL-U-AV.J/60A

106. Which one of the f[ollowing

is the

chemical formula of gypsum?

fa) CaS0, 2H,0

{b)

fc}

Ca 30,

2Cas0, -H,0

(dj CasO,

107. Which one of the following statements
about the law of conservation of mass is
correct?

fa}

(b

el

(d)

A given compound alwavs contains
exactly SEITE proportion of
elements.

When gases combine in a reaction,
thew. doso in & simple rato by
volume, provided all pases are al
room lemperature.

Matier can neither be created nor
destroved.

Equal volumes of all gases at same
temperature and pressure contain
equal number of molecules.

108. The wavelength of X-trays iz of the
order of
fa) 1A
(&) 1 pm
fe} 1 mm
fdl 1 cm

[ P.T.O.



109. Tt = o g % o W faan it -
a.lrr 53

fms)
B 1

18 iy gy

8 s & 12 s w5 shaw mm w oo Psfofes
# 8§ w-m 2

fa) 8 m/s”
b} 12 m/s®
e 2m/s®

id) =1 ::|::,|".-.1=

110. 4 wF I T F BEE g 50 em B, A
w0kl it (awar) Fretafas & § S9-6 27

fa) +2 ERHI

fb) +0-02 EHMNT
fe) =05 =it
(d) +05 ERATE

YPL-U-AVJ f60A a0

111. Fr=ifra wrte o saiy wgen, 0% T w6 IaE!

famy s & U WA wEAE WA SR
B ow owe ot wnn 2 fR oam owmm ®
T 100 om #1 g 48 F w0 A

e

e g AT & e = e 6w
o Frofefim 2 @ Swam 7

lg = 1000 cm /s%)

fa) 8=sin"'{1/9.8)
(b} B =sin='[1/20)
fe) © =sin™! (1/80)

fd) 8=sgin""'(1/100)

112, Tl = =1 & v s 1 6% 1077 K

oW owEM ¥ AEE TR TS W O9A
faefafiaa & % F9-m 8f

fa) o-8xi0SK1!
bl 2.4%x10™ K-
fol 32w107% g1

fd) 4.8x10"% K1




109. Consider the following velocity and time
graph ;

Vieloedy T

{m, s
ij_
;

1
L]
1

4 8 12 16 Time (s

Which one of the following is the value
of average acceleration from 8 s to 12 s7?

fa} 8 m/s*
fb) 12 m/s?
fe) 2 mjs®
fd] -1 mjfs*
110. If the focal length of a convex lens is

50 cm, which one of the following is its
powers

fa} +2 dioptre
bl +0-02 dioptre
fe} -0-5 dioptre

fe}] +0-5 dioptre

YPL-U-AVJ/60A

111. A ball is released from rest and rolls
down an inclined plane, as shown in the
following figure, requiring 4s o cover a
distance of 100 cm along the plane :

=

Which one of the lollowing is the correct
value of angle 8 that the plane makes

with the horizontal? (g = 1000 cm/s?)
fa) B =sin"!({1/9-8)
fh) 8 =sin1{1/20)
e/ B=sin '(1/80)

fd) 8= ain=1 (1/100)

112. The coefficient of areal expansion of a
material is 1.6x10°% K™!, Which one

of the following gives the wvalue of
coefficient of volume expansion of this
material?

fa) 0.8x10°° K1
B} 2.4x10% g
fe@ 3-2x107% K1

fd} 4-8x10° K!

[ P.T.O.



113, &t mreml & WoSdanR oy, @ on, o e

¥p g @ W ¥ wemw % 3 wae
ul‘ﬂmvahlﬁ nzfrﬁmﬂﬁl-ﬁt.ﬁ‘r

116. =1 ® i1 & e gafw Sifim s

it & 9 e nm gz w wEm w ad o
TP :

Frfrfin waai & 3 w=-m wdt 27

fa) w ¥ A vy 15 T R Jﬂ:ﬂ} {w“u}

(b) g T HA vy 15 TR

fej vy AR vy F wE R A, ofim we b R

fel) ﬁmmuzmalﬁh B. sfém qo ma 2. TAEE
C. H 9y 3. ey

114, Fefafim 8 @ ww-d deeea ba gz @

b o P R &R

) FETEGHTET w2

fb) TEH HrwTE @ A B € D

fe) T FRETAAEE 2 3 4 1

e}

B A B C D
115, g1 ® gh-n ® o gifem difim sl

qfel # A9 R T 2 WO W R I ia I o
IR Pkl -
qH-1 1) AL
(e = weraTg-wEd (En g2) WA B € D
e 1 3 4 2
A, FoETEAdE wE 1. AL
B. - 39579 T Z Ca
C. sEwEETY 3. of 117, F0E 2011 % SEEw, =g sgeE &
D. 7 WEEE 4. BWk wHy # wndtn wEE W @l sEEE @
= foferfign & & F-m 7
) A B € D
1 4 2 3 () fso—afig—Bg
m A B C D By i e b
1 32 4 3 b}
el A B © D
3 a2 4 1 o) ey —fm
i A B € D
a 4 2 1 (e nfTR—irarem— R —fsm
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113. The refractive indices of two media are 116. Match List-1 with List-II and seclect the

denoted by my and My, and the velocities correct answer using the code given
of light in these two media are below the Lists @
respectively v and vy, If ng /0y is 145,
which one of the following statements is List-I List-IT
correct? (Ratluweay Zone) (Headguarters)
i i A. West Central 1, Jabalpur
(b} 1y im 1-5 tmes u).
[c) 1w is equal to vy, B. South East Central 2, Gorakhpur
fd} vy is 3 times vy, C. East Central 3, Bilaspur
114, Which one of the following greenhouse D. HNorth Eastern 4. Hajipur
gases is in largest concentration in the
atmosphere? .
Code
faj  Chlorofluarocarbomn
) Nitrous oxide fa) A e o D
fe}] Carbon dioxide 2 3 % 1
d} Meth
e e m A B € D
115. Match List-1 with List=il and select the 1 4 < 4
correct answer using the code given
: A B C D
| Li § el -
below the Lists 3 F 5 1
List—T fa=Er
(Koppen's Climatic Type)  (Letter Code| (e} *;‘ ? E 12:"
A, Tropical wet 1. Al
B. Mid-latitude desgert 2. Ca
- 117. Which one of the following is the correct
C. Mediterranean 3. Df descending order of Indian States in
Code : (@} Mizoram—Manipur—
Tripura—Meghalaya
faf A° B € D
i 4 2 3 fB) Tripura—Manipur—
by A B C D Meghalaya—Mizoram
: . : : ]  Meghalayva—Manipur—
fc. cE p
g A B C D : .
A o 4 A Mizoram—Tripura
[d] A B C D fd} Manipur—Meghalaya—
3 4 2 1 Tripura—Mizoram

YPL-U-AVJ /60A a3 [ P.T.O,



118, F=ferfas § @ few e m =2y (ol

FRTAIII ) ey F SwE T g f7
fa) e

b)) R
fe)

fd) =T AEE

119, Tafafas 4 8 S9- o s i o=

wfar T4 27
fa) =
(b AT
fe) sl

fd] IR

120. #uFA 39w & fore Fofefis sodd 4 9 $-m
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wusl ) wen @ oo @ oanw A fa
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118. Steppe (temperate continental) climate is 121. An object is placed in front of a convex

not experienced in which one of the mirror. Which one of the following
following places? statements is correct?

fal It will never form an inverted image.
fa) Pretoria

{b) The image moves towards the focus

when the object moves towards the

{b] Saskatchewan HETTOE:
fe) Perth fe} Depending on the position of the

object with respect to the mirror,

the image can be inverted and real.
{d} Buenos Aires

fd} The size of the image becomes
larger than that of the object when
the object is placed at a distance
119. Which one of the following is not a equal to half the focal length.
proceas of chemical weathering?

122. A circular coil of mdius R having

fa)] Solution N number of turns carries a8 steady

current /. The magnetic mduction at

(b] Carbonatio the centre of the coil is 01 tesla. If the
roona n

number of fums is doubled and the
radins is. halved, which one of the

fo) Oxidation following will be the correct value for
the magnetic induction at the centre of
(d) Exfoliation /15 (RGP
fa) 005 tesla
B 02 tesia
120. Which one of the following statements is () 04 tesla
correct for a plane mirror?
fd) OB tesla

faj Iis focal length s zero.

123. Which one among the following is not
{b) The size of the image of an object a Fundamental Right under the
placed in front of the mirror is Constitution of India?
slightly less than that of the object. . )
fa) Right to equality
fc] The image is virtual, erect and (b} Right to freedom
laterally inverted.
s fc) Faght to citizenship

fd) Its focal length is 200 cm. fd) Right against exploitation
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fa} R
fal 1763

b FTE (B 1764
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e s PY QPN NS S —
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B R Seels b B T
(q wwER o T fe) TR wWhafa
fd) Ja=a : RG] () “ilaen wiata
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124, Which one of the following crops was 127. When did the Stamp Act Congress

mtroduced by the Portuguese in India? consisting of delegates from 9 of
the 13 colonies of America meet in
fal  Opium New Yorlk City?
b} Coffee fal 1763
e Betel leaf ol
el 1765
fdi Chili
fd) 1766
125. Consider the following statements about 2
; gkt 128. Who among the following travellers
merchant guilds of South India wais friom Italy snd visited Vije i
1. Ayvavole merchant guild was Kingdom m the fifteenth century?
originally established in Aihole,
ginaily faj Nikitin
2. Manigraman merchant guild was _
subordinated to the Anjuvannam ) Fa-Hien
merchant guild in the 13th ) Beinler
century.

fd} MNicolo Cont
Which of the-statements given abave
is/are correct?

129. Where . did .. the French East India

fal 1 only ;ﬁn:t;}:;;g I,'L.r;ff establish its factory
e (a) Calicut

fel Baoth |1 and 2 (b} Surat

{dl Meither 1 nor 2 fe) Pondicherry

fdl Masulipatrnam

126. Which one of the fllowing pairs 1s
correctly matched? 130. The Central Vigilance Comrmission was

Bhaktl Saint Phil - established on the recommendation of

which one of the following Committess?
fa} Shankara v Avadhuta

fa) Santhanam Committes

b} Ramananda : Kevaladwvai
e a0 e {b) Dinesh Goswami Committee
fe) Ramanuja : Vishishtadvaita {c) Tarkunde Committee

(d} Chaitanva : Advaila {d} MNarasimham Committee
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131. Match List—] with List-11 and select the

134,

correct answer uging the code given
below the Lists :

List-I
(Author)

A, Bal Gangadhar
Tilak

B. Dadabhai Maoroji

. Mahatma Gandhi

0. Jawaharlal Nehru

Cade :

fal A B
3 &4

B A B
3 2

fel A B
1 4

fd] A B
1 2

LOX B G MO

. The Discovery af

List-IT
(Book}

The Archic Home
iri the Vedos

Inedit

. Poterty and

U'm-British Fule in
India

wpghEg ~ O

132. Which one of the following is the Cificial
Mascot of the FIFA World Cup, 20187

fa} Fuleco
fb) Zakumi
fc)  Pille

fd} Zabivaka

133. The

Headquarters of the

Mational Sports

the

National

University {as
Sports

proposed

per
University

Drdinance, 2018} will be st up in
fo) Chhattisgarh

fb) Manipur
fc) Kerala

fd] West Bengal
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Sentosa

izland, which was In news

recently, is located in
fa] Singapore

{b) China

fe)  Australia

{d} Sri Lanka

135. India, in June 2018, asserted that any

mega connectivity project must respect
sovereignty and territorial integrity of
the countries, The project referred to
above iz

fa}
B} Belt and Road Initiative

North-South Corridor Project

fe} Chabahar Port

{d} Panama Canal Expansion

L3860 ‘Whe aemong) he  following is mot a

member of G7?
fa} France
b} Germany

el Russia

(d) Japan

137. Who among the following leaders started

the Indian Home Rule League?
fa) Gopal Krishna Gokhale
(b) Mahatma Gandhi

fe) Bal Gangadhar Tilak

fd) J. B. Kripalani
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w1 Ty T = 27

fa) Ty AT Wil gEe (Fieam)
(b HFEEeE

fc) wwE =1 UES

fd] T T

139. “ws-upEAEs e 6 gfr fefEfEs 9 8

frn v gmadfa 9 2R 9REl AR S
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fa) WEE TEEEE TG
) gudt gt A
fe} TR TEEdTE T
fl) wrer] gl T

140, Ffifan & & F9-91 TF Wi & ofge 3

(o) @9 = A Faes G g

b TEE mEem ® wmwewl s mpE @
s w HE

i) M Tl (TEEE w) W R

() ORI W AT H AT A

[

141. wima & dfgam & Rfire 7 'FoEEE’ =

feffigs 4 4 fon vs wviys swfufem &
TEH # afatae e mn ar?

fa) 4147 weas siuiEm
b  42af gEmaE AFaHE
fej 4341 deiras arfufmEm
fed) 4437 deirgs sfafmy
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fb) - FAE=

{c] GE

fdj HERTE

144, et ufeeg (974 i FEREE) T Ao
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fa) WA % WA
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13B. Every Judge of the Supreme Court of 142. The place of English East India Company
India is appointed by gettlement in Madras was known as

faj the Bupreme Court Collegium

(b ihe Cabiiet fa) Fort William
2 AT

fo}  the President of India {b)  Fort 51 George

fd] the Lok Sabha
fe} Elphinstone Circle

139. The MNehru-Mahalanobis Sirategy of
Development was implemented for the id}  Wartle Falace

firet time by which one of the following
Five-Year Plans?

fa} First Five-Year Plan 143. Which one of the following Indian States

e Pl (other than Himalayan or NE States)
h) Eeeand: Free-Year Flen ranked first in the Composite Water
fe  Third Five-Year Plan Management Index as per the report
(e Seventh Five-Year Plan isgued by the NITI Aavop in June 20187

fa) Madhye Pradesh
140. Which one of the following is not a

part of the Direetivé Principles of ‘State

Policy as enshrined in the Constitution Mbj Karnataka
of India? _
fa} Equal jusficy mnd drdo teralaid fe}. Gujarat
{b Frotection of monutments -and {d} Maharashtra
places and objects af national
importance

e} Protection of personal law
144. Who among the following is the ex officio

fdj Separation of Judiciary from Chairman of the North Eastern Council?

Excoutive

fa) The President of India
141, The word ‘socialist’ was inserted into the

Preamble to the Constitution of Tndia
through which one of the following
Amendment Acts?

B} The Prime Mimister of India

4 A fe] The Union Home Minister
fa) 4lst Amendment Act

) 42nd Amendment Act fd} The Umion Minister of State

(Independent Charge), Ministry of
el 43 Ammndoient Aot Development of North Eastern
fd) 44th Amendment Act Hegion
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145. Which one of the following is the theme of 148. Article 352 of the Constitution of India

the Warld Blood Donor Day, 20187 contains provisions related to
fa}  Blood connects us all fa) financial emergency
{b) Be there for someone else. Give ) Db -of SocnBta G0l mkeinesy
bload, Share life ;
in States

fol  Give blood. Give now. Give often
fo suspension of the enforcement of

{d} Thank you for saving my life rights conferred in Part 1Il of the
Constitution
146. 'Seva Bhoj Yojana', a scheme of the (d} general emergency

Governmment of India that seeks o
reimburse Central share of CGST and
1GST on Food [ Prasad f Langar/ Bhandara
offered by religious  institutions, is
introduced recently by which one of the

149, The Theosophical Society was led by

following Ministries? fa) A. 0. Hume
faj The Ministry of Calture B Arthur Oriffith
(b} The Miniatry of Home Affairs bl it B sant

fe) The Mindsrry)pf) Sofkureer) Adthirs SHNGE. L00) L. -
Pood and Public Distribution ) o Pufferin
{dl The Mmistry of Social Justice and

ERN PR 150. Which one of the following statements

about Bipin Chandra Pal ig correct?

147. Iir, Bindeshwar Pathak, who was
awarded WNikkel Asia Prize, 2018 for
Culture and Community, is the

fa} He was a member of the moderate
group of Congréss.

ypder fb) He was a member of the extremist

fa) Bachpan Bachao Andolan group of Congress.

(b} PRS Legislative Research fc) He was the Minister of Defence
in the first Government of

¢} Sulabh Sanitation and Social independent India.

Reform Movement

fdl He was the Chiel Minister of West
fd) Smile Foundation Bengal.
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